



$y(0,t) = 0$   
 $D(t) = 0$   
 $y(0,t) = 0$   
 $D(t) = A \cos(\omega t)$   
 $y(x,t) = B \cos(\omega t - kx + \varphi)$

$-k(y(0,t) - D(t)) = -Z \frac{\partial y}{\partial x} \Big|_{x=0}$

$y(x,t) = B e^{i(\omega t - kx + \varphi)}$   
 $D(t) = A e^{i\omega t}$

$-k(B e^{i(\omega t + \varphi)} - A e^{i\omega t}) = -Z B i \omega e^{i(\omega t + \varphi)}$   
 $-kA = (Z i \omega - k) B e^{i\varphi}$

$\frac{B}{A} = \frac{k}{k - i Z \omega} e^{-i\varphi} = \frac{1}{1 - i \frac{Z \omega}{k}} e^{-i\varphi}$

$1 - i \frac{Z \omega}{k} = r e^{i\theta}$

$r = \sqrt{1 + \left(\frac{Z \omega}{k}\right)^2}$   
 $\theta = -\arctan\left(\frac{Z \omega}{k}\right)$

$\frac{B}{A} = \frac{1}{r} e^{-i(\theta + \varphi)}$

$B = \frac{A}{\sqrt{1 + \left(\frac{Z \omega}{k}\right)^2}}$       $\varphi = -\theta = \arctan\left(\frac{Z \omega}{k}\right)$

$y(x,t) = \frac{A}{\sqrt{1 + \left(\frac{Z \omega}{k}\right)^2}} e^{i(\omega t + kx + \arctan \frac{Z \omega}{k})}$